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while a:l>

while <Boolean expression>:

<statement 1> IS el gl gy 51 (S
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<statement 2 dgud o0 SUjyl J wyle SO

Sgu o0 1yl Wyle (golowi (0g Cawyo )5
294 g0 31,55 ayl9 o



while ail>

A

SEMEIE while <Boolean expression>:
<statement 1>
<statement 2>

Boolean true
expression

Statement 1

false




while ;| Jt

1 =4

while 1 <= 10:
stdio.writelnln(str(i) + 'th Hello')
i=1+1
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while |17 <= 10|

asls 4.l byl

stdio.writelnin(str(i1) + 'th Hello')
1 =1+ 1
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hellos.py
1st Hello
2nd Hello
3rd Hello
4th Hello
5th Hello
6th Hello
7th Hello
8th Hello
9th Hello
10th Hello
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import sys hellos.py
1st Hello

print('lst Hello') 2nd Hello
print('2nd Hello"') 3rd Hello
print('3rd Hello') 4th Hello
5th Hello

i=24 6th Hello
while 1<=10: 7th Hello
print(str(i) + 'th Hello') 8th Hello

1= 1+l 9th Hello
10th Hello
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% python powersoftwo.py 5
01
12
2 4
3
4
5

8
16
32
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import sys

n = int(sys.argv[1])
power = 1
i=0

while i<=n:
# Write the ith power of 2.
print(str(i) + ' ' + str(power))

power = 2 * power # power k= 2 _

1=1+14#i +=1
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while True:
X =1.0 + 2.0*random.random()
y = 1.0 + 2.0*random. random()
1f x*X + y*y <= 1.0:
break



An infinite loop (with no output)

while True:
X = random.random()
y = random.random()
1f X*X + y*y >= 2.0:
break



for asl>
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for <variable> i1n range(<start>, <stop>):
<block of statements>



for ;| Jlw

power = 1

for 1 in range(n+1):
stdio.writeln(str(i1) +
power *= 2

+ str(power))



V4

for 1 in range(n+1):
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stdio.writeln(str(i) +

power *= 2

+ str(power))

for aal> G sl

}
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1 +=

j +=
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stdio.write("

N—
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stdio.write("'
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stdio.writeln(i)
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if income < 0.0:
rate = 0.00
else:
if income < 8925:
rate = 0.10
else:
if income < 36250:
rate = 0.15
else:

if income < 87850:

rate = 0.25
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